www.Padasalai.Net www.Trb Tnpsc.Com

§ et Quarterly Exammatlon 202T'=’,I T
12 -sa ACCOUNTANCY - =T
.Time : 3.00 Hrs . PART-A Marks_.-: 90
I. " Choose the correct answer with option. - (20X 1 = 20) '
1. The excess of assets over liabilities is : ' '
©  a) Loss b) Cash c)Capital . d) Profit _
. 2.  What is.the amount of capiltal of the, propnetor,_lf'his assets are !
" Rs. 85,000 and liabilities, are Rs. 21,0007 . i
* a)Rs.85000. b)Rs.1,06,000 c)Rs.21,000 d) Rs. 64,000
5= "Openlng ba-!a-nce of debtors Rs 30,000, cash received: Rs. 1,00, 000 ;
credit'sales: Rs. 90,000; clos:ng balarice of debtors is. ' g
a) Rs. 30,000 ° b) Rs. 1,30, 000 c) Rs 40,000 d) Rs 20 000
4, .Balance of receipts and payments account lndlcates the i o 4
a) Loss. incurred durmg the perioa - - - .. . SIVANANDHAKM A.B.Ed .
. b) Excess of income over expe;ﬂture of the perlod . A\Af:v;i:i L_"_\
. & cash payments during period xRL-.—u IRI district ,
~d) Cash and bank balarice as on the date ' PH:9003373506
5.  ‘Which of the following. should not be recorded in the mcome and
'expendtture account?. _ : ‘
e ' a) Sale of old news papers b)- Loss on sale of asset '
. ©) Honoraru.om paid to the secretary d) Sale proceeds of furnlture
6. Legacyisa - - g -
.. a)Revenue expendlture N .b) Cap'ital_exeeriditure
¢) Revenue receipt- . .. d) Capital receipt ‘
7.  Which of the followmg is shown in Profit and loss appropnatlon accounl:? i
.. a) Office expenses " b) Salary of staff ¢
. .c)Partners’salary " - . . d)Interest on bank loan
8. Inthe absence of an agreement partners are entitled to
_ \' - a)Salary . . T . b) Commission
- -c) Interest on loan ~d) Interest on capltal = i
9.

..When fixed capital method is adopted by a partnership firm, which of the
followmng items will appear.in capital account? .
. a) Add:tlonal capital. mtroduced b) Interest on capital -

c) Interest on drawnngs d) Share of bI'Oﬁt
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In a Joint life policy, one pohcy is taken on the lives of.
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Which of the following statements Is true? ¢
a) Goodwill Is an Intanglblc assct ) Goodwill Is a current 25"

c) Goodwill is a fictitious asset d) GoodwlH cannot beé acquire
When the average profit Is Rs. 25,000 and the normal profit is R 15,000,
super profit Is ;

a) Rs. 25,000 b) Rs. 5,000

The total capltalised value of.a business
Rs. 1,50,000 and liabllities arc Rs., 80,000, The value of goodwill as per

the capitalisation method will be - . |
¢) Rs. 1,00,000 d) Rs. 30,000

a) Rs. 40,000 b) Rs. 70,000

On revaluation, the increase. In the value of assets leads to -

a) Gain b) Loss c) Expense d) None of these
At the time of admission, the goodwill brought by the new partner may

be credited to the capital accounts of
a) all the partners - b) the old partners -

c) the new partner D d) the sacrificing partners

Select the 'odd one out |

a) Revaluation profit _
¢) Goodwill brought by new partner d) Investment fluctuation fund

On retirement of a-partner, general reserve is transferred to the
b) Revaluation account .’

c) Rs. 10, 000 d) Rs. 15,000
Is Rs. 1,00,000; "assets are

'b) Accumulated loss

a) Capital account of - all the partners
c) Capital account of the continuing partners o

d) Memorandum revaluatlon account
If the final amount due to a retmng partner is not paid lmmedlately, it is

transferfed to . : Ty
N\ G T b) Retiring partner's capitalA/c

_a8) Bank A/c D\
‘ d) Other partners capital A/c

c) Retiring parthers loan A/c

A, B and C are partners sharmg proﬁts in the ratio of 4: 2:3. c retlres
The new profit sharlng ratio between A and B will be o
a)4:3 . b)3:4 c)2:1 . dy1:2"
Investment Fluctuation fund is created out of profit to adjust the reduction

of the mvestment 'a) Market value

in the
@) Retail value d) Reahsable value

b) Cost rvelue

‘b)-new.partner
- d) Retirihg partner
12 csemré.@uuﬁeﬂu.ld: UEEWD - 2 -

a) old partn_er ‘
c) all partners
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PART - B
Answer any 7 Questions, Question no. 30 compulsory. 7 X 2 = 14

From the following detalls, calculate the misslng‘ﬂgure.

Closing Capital Rs. 1,90,000;
Additional Capital Rs, 50,000;

Drawings Rs, 30,000;
Opening capital -7
Rs. 40,000

Loss
From the following detalls calculate the printing: and stationery to be

debited to Income and Expenditure Account for the year ending 315t
March, 2018 and also show how it will appear in the Balance Sh-eet as on
31st March, 2018. ' : ;
Amount paid for stationery during 2017- 2018 _ Rs, 1,500 . -

' Rs. 300

Stock of stationery on 1st April, 2017
Stock of stationery on 31st March, 2018 Rs. 200

What is meant by fi fixed cap:stal m od?

What is-legacy?
State any four urcumstances under Wthh goodwill of a partnershsp firm

is valued. : £ :
Velan is a partner who wlthdrew Rs. 20 000 on 1st Ap-ril 2018. Interest

on drawings is charged at 10% per annum. Calculate interest on drawings -

' on 31st December 2018 and pass Journal entrles by assurnmg fluctuating’

capital method.
From the following mformatmn, find out the value of goedwiH by :

capitahsatlon method

(i) Average profit Rs. 20,000 -

(i) Normal rate of return 10%
(iii) Capital employed Rs. 1,50, 000

What is gaining ratio? .
Raja, Ravi and Rangan are partners shanng proﬁt & Iosses by equally

On 15t April 2019 Rangan was died. In the year 2018 the profit shows
Rs. 18,000. Find out Rangan s share of. proflt on the basis of 2019 year e

profit.

Anbu and Raju are partners; sharmg proFts in the ratio of 3 2 Akshat is
- admitted as a partner. The new profit-sharing ratio among Anbu, Raju

and Akshai is 5:3:2. Find-out the sacnf‘cmg rat|0
i :=:-':'-;-_t,_‘:,-.;..-.-., P 12 &mas@u..lﬁsﬂu.:w LbED - 3
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PART - C ,
III  Answerany 7 Questions, Question no. 40 compulsory. 7 X 3 = 21
31. Differentiate between statement of affairs and balance sheet. (any 3)
32. From the following items of non-profit organization, ascertaln caplital nature
or.revenue nature. :
a) General Donation b) Admisslon fees
33. State any three contents of a partnership deed.
34. How is goodwlll calculated under the super profits method?
35. What are the adjustments requlred at the time of admlssion of a partner?
36. How will the following appear in the final accounts of a’club for the year

c) Sport Equipment bought

2017 -20187
Particulars  Rs.
Prize fund on 1.4.2017 : 60,000
Prize fund investment on 1.4.2017 . 60,000
Interest received on prize fund investment .| . 6,000
* Prizes distributed . o 8,000
Donation received for prize funaﬂ LN 12,000

37. Find out the value of g_oodwill at tHrée yeai’s purchase of weighted average
profit of last four years. ' '

Year " Profit Rs. ~ Weight
2015 | 10,000 | 1

2016 =~ "¢ 12,000 2

2017 16,000 3

2018 - 18,000 4

- 38. Mala; Madhu and Vimala are partners sharing. profits and losses in the

ratio of 5:3:2. On 31.3.2017, Madhu retiréd. On the date of retirement;
~ the books of the firm showed a reserve fund of Rs: 50,000. Pass journal

entry to transfer the reserve fund. : ' .

~ 39." Aparna and Priya are partners who share profits and losses in the ratio of‘
3:2. Brindha joins the firm for 1/5 share of profits and brings in cash for
her share of goodwill of Rs. 10,000. Pass necessary jourhal entry for
adjusting goodwill on the assumption that the fluctuating capital method
is followed and the partners withdraw the entire amount of their sharé of- |

goodwill, ~ : | ;
12 semseiudeiu was - 4
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40. Ahamad and Basheer contribute Rs. 60,000 and Rs. 40,000
respectively as caplital. Thelr raspective share of profit Is 2:1 and the
Profit before Interest on capital for the year Is Rs, 5,000, Compute the
amount of interest on capital In each of the following situations: :
(1) If the partnership decd Is sllent as to tha Interest on capltal
(i) if interest on capltal @ 4% Is allowed as per the partncrshlp deed

PART =~ D . :

IV Answerall Queéstions,
B
41. (a) David does not keep proper books of accounts, Followlng detalls are

(73{5-35)

gwen from his records,

'31.3.2019 Rs.’

| Particulars .1.4.2018 Rs.
Cash | 143,000 © .29,000 .’
Stock of goods 1,20,000 | ~1,30,000 "
Sundry debtors “| 84,000 -~ - . | °1,10,000
Sundry creditors - 1,05,00El o "-'1;'02,00‘0"
Loan. 3 [ 25,000 =" - “| 20,000
Business ‘premises 2,50, 000 E 2,'5'0}000 :

‘| Furniture ¢ 5, | 3, 000 S 45,000 ¢

Durmg the year he m-troduced further caprtal of Rs. 45,000 and wrthdrew
" Rs. 2, 500 per month from the busmess for his’ personal use: Prepare J
statement of prot"t or loss w:th the above mforrnat:on '
_ [GR] ]
(b) Seenu and Siva are partners shanng profi ts and Iosses in the rat|o of
- 5:3. In the view of Subbu admission, they decided TR s

) To increase the value of bulldmg by Rs. 40;000.
i) To brmg into record Investrnents at Rs. 10 000 Wthh have not o) far '

" been broughl: into account.
m) To decrease the. value of machlnery by Rs 14 ,000 and furmture by

8
-
i

Rs. 12,000.
" iv) To write off sundry credrtors by Rs. 16, 000

Pass: Journa_l entries an.d prepare re_val_uatlon account..' SR '

-

-~
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42. From the infermation given below, prepare Recelpts and Paymients account
of Kurunji Sports Club for the year ended 31st December, 2018.:

Particulars , Rs, Particulars L Rs. |

Cash in hand (1.1.2018) 4,000 | Pald for printing char_ges 2,500

Salaries paid | 3,000 [ Lockers rent recelved | 1,000.

Life membership fees recelved 10,000 | Tournament receipts 14;000

Subscrtptlon received R .15'006 | Tournament expen5é5 ’.10'500' 'Ll'

_Renl: rece:ed . . .. 2,000 l‘ Investments purchased E-E,OOO
[OR] 4

(b) Jo-hn isa partner in a firm. He w:thdraws Rs 1,000 p m. regularly
Interest on drawings is charged @ 5% p.a. Calculate the mterest on
. drawings using average perrod if he draws '
{i) at the beginning of every month N
_ (ii) in the middle of ‘every monthiii) the end of every month
.43, (a) State the differences between Receipts and Payments Account and
- Income and Expendrture Account ' [OR] |
(b) From the followrng information relating to Arul enterprlses, calculate _
" the value of goodwrll on the ba5|s of 2 years purchase of the average
proFts of 3.years.. : Ny :
(a) Profits for- the years ending 31st December 2016 2017 and 2018

were Rs. 46,000, Rs. 44,000. and Rs. 50,000 respectively. .. _
(b) A non- recurring income of Rs. 5,000 is z-ncluded in thre profits of the '
_.'-year2016 : ' - o m it o
' (c) The closmg stock of the year 2017 was overvalued by Rs. 10, 000. e

a4, (a) Kavin, Madtian and Ranjlth are partners shanng profits and losses in "
_the ratio of 4:3:3 ‘respectively. Kavin retires from -the firm on 31St

December, 2018. On 'the date of retn'ement his capital accouht shows a -

credit balance of -Rs. 1,50,000. Pass Journal entries if; -

(a) The amount due.is pard off 1mmedlately

. (b) The amount due is not paid lmmed:ately - - b L _J'-
.(c) Rs. 1,00,000 is pai-d and the balance in future. . [QR]- h /
e : = :
T RRCETE R _12 Eﬁé@ﬁuﬂsﬁmé n&sb < 6
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(b) From the following Receipls and Payment Account of Trichy Recreation

Club, prepare Income and Expenditure Account for the year
ended 31.03.2018,

Receipts Rs. | Paymenls Rs,
To Balance b/d By Furniture purchased 10,000
Cash In hand 11,000 | By Rent 2,800
To Dividend recelved 27,600 | By Secretary’s honorarium 15,000
o Sale of old newspaper 3,000 | By Postage _ 1,700
© Members’ subscription 31,000 | By General expenses 4,350
1‘0 Locker rent 8,000 | By Printing and Statloncry 45,000
0 Interest on investments | 1,250 By Audit fees 5,000
To Sale of furniture 5,000 | By Closing balance ”
| (Book value Rs, 4,400) Cash in hand 3,000
| 86,850 ' . 86,850
45. (a) Dlstlngunsh between sacrificifg ratio and'gaining ratio. [OR]
(b) From the following informatlml, prepare capital accounts of partners
Padmini and Padma, when their capitals are fluctuatlng
Partlculars _ sy Padmlnl Rs. PadmaRs. |
Fapital on 1st January 2018 (Cr. balance){5,00,000 | 4,00,000
Drawings during 2018 - |70,000 H - 40,000
interest on drawings | - 2,000 i 1,000
Share of profit for 2018 . - |52,000 . = 40,000 --
[nterest on capital - [30,000 24,000
Salary- . | ' 45,000 1 N
Commission | | ©eNil T # 21,000 N
46. (a) From the following particulars, show how the item sub??iption will

appear In the Income and Expenditure Account for the year ended 31-

12-20187 -

Subscription received in 2018 Is Rs. 50,000 which tnc|udes Rs. 5,000 for

-2017 and Rs. 7,000 for 2019, Subscrlption outstanding for the year

2018 is Rs, 6 000 Subscrlptlon of Rs. 4 000 was received in advance for

2018 in the year 2017
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[OR] (b) Rajesh, Sathish- and ‘Mathan are partners
losses In the ratio of 3:2:1 respectively. Thelr ba
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sharing profits and
lance sheet as on

31.3.2017 is given below.
Liabilities Rs. I " Rs. Assets Rs. Rs.
Capital accounts: } : Premises R | 4,00‘,000'
Rajesh 4,00,000 Machinery - 4,20,000
Sathish 3,00,000 Debtors 1,60,000
Mathan 2,50,000] 9,50,000 (. Stock™ - - 3,00,000
General reserve |- 1,20,000- | Cash at bank 20;000
Creditors 50,000 ' '
Bills payable 1,80,000 , .
' 13,00,000 | | 3,00,000

a7

47.:
- Particulars _
‘Debtors on 1t Apnl 2017 .

Mathan retlres on 315t March, 2017 subJect to the followmg conditions:

Stock Rs..2,90,000, Debtors Rs.
(iil) Goodwill of the firm is valued

after-the retirement of Mathan.

'(I) Rajsh and Sathish will share profits and Iosses in the ratio-of 3:2

(ii) Assets are to be revalued as follows:
2,000.

| Rs. 1,20,000
Prepare necessary ledger accounts and the balance sheet mmedlately

Machmery Rs. 3, 90 000, |

(a) Find out the value of goodwiil By capltahslng super pror ¢s

. (a) Normal Rate of Return 10% .
. (b) Profits for the last four years are Rs 30 000 Rs. 40 000 Rs 50 000

" and Rs. 45,000.

(c) A non-recurring mcome of Rs.3,000'is Included in the above mentmned

profit of Rs. 30,000. :

(d) Average capital employed is Rs 3,00, 000
(b) From the following _par,tgc_.ulars, calculate total sales.

" [OR]

- Bills receivable on 1% April 2017

Cash received from debtors . .

. Cash received for bills receivable = -

Bills receivable dishonoured
Sales return '

. Bills receivable on 31St March, 2018

Sundry debtors on 31 March, 2018

Rs.

[~ 1,50,000 . _,;8\"»‘594:%“
__40,000° | 4(%/%&6.;_,,';@%
0000 ) %, %),

[ 10,000 BN AN

| 40,000 - d"‘%\&;%%f(‘(/

30,600 :
~ 1,30,000
12,00,000

Cash sales

= ——— —
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